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Comparing Forces and Fields TEI 11

1. In each case below, compare the direction of the electric field at point X produced.by the chargéd,object
with the direction of the electrostatic forces and on an electron placed at point X. r
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2. a) Find the magnitude and direction of the net el

'.>'f K t

fìeld halfway between the charges shown below
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the electric force on a proton placed at this
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3. Two charged objects, A and B, each contribute as follows to the net electric field at point P: Ee : 3.00
N/C directed to the right, and Es:2.00 N/C directed downward. What is the net electric field at P?
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6. a) Two positive ql : +76 ¡rC and q2 : +4.0 ¡rC, are separated in a vacuum by a distance
of 3.0 m. Find the spot on the line between the charges where the net electric field is zero.
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Electric Potential Energy and Potential IB 11
Formula:
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Symbol: Units ú) foules
, l. In the diagram above, at which B, will the test charge have more electric potential energy?
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1. How much work is done in moving +5.0 C of
charge through a potential difference of 12 volts?
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2. Anelectron gains 4.8 x 10'17 joule of energy
moving between two points in an electric
field. What is the electric potential
difference between these two points?
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3. Determine the conversion factor between joules and electronvolts
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4. An extemal force üoes ¿.0 eV of work

an electron between two points in an electric
fìeld. How much energy in joules does the
electron gain?

5. A proton falls through a potential difference
of 30. volts. How much kinetic energy does
the proton gain? Express your answer in
both joules and electronvol ts.
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